E_HFRESEEE

1. D ﬂ‘jA:{l‘ _2<1f<2}aB:{_?’s_Za_l’Oal’Z}vFJij AﬂB:{_Zv_lvoal}.

1—0.4
2

3.B #Hla, ) WERED N @ =a, a1 (n=2)—E WAL 47 ar=a, 1 a1 WHa, ) A—xE N E
L&, l:[ﬁfl[l a,=0.

4.C PURIESCFEA 26 A4, LA 2 D3 SCFRERYHRIIA A% T, R ECFEA 10 A4S, i LUBCF
MIHESIAT AL i IZ S ] BB R N0 A A,

2.C K E~N(G.6") P(3<e<T)=0.4,f7Pd P(e>T7)= =0. 3.

—2’e "

5 B f(_l)_ 7)1 1

HEBR A, ik B
B 18 2 HLATHION TR AT AT ALAAT= 144,

7.B (61'+V)9 F1%) 188 3t Tr+1:C§(6x)"*”(%x*"ff)f:C669*" 577t BT @ TR
X

— L€ f) BB £ AR HEBR C.D. % 20 B, £ () >0,

224

HO%E 4 Tk To =CIXE X3 0 ==,

8.D MY x>y>1>z>0,}3fu%<%<%,ﬁﬁu a:x+%>b:y+%,a21+%>c:z+

ES

LM A=y = s b = y= g b FERL b BN AR

3 <
Ll a>b H a™>c.

9. ABD iz E(X)=6, D(X)——,JF"J E(Y)=28,D(Y)=60.

10. BCD - ERA [ #E x=la e 2 =d b RAA, A §51%, B IEM. X4 2 € [b,d |1},
£ ) =0, £ Co) B, N £(0)<<f()<<f(d),CIEM. 24 2 € [a.b]i}, [ (2)<0,
SO BB N f(a) > f(D), D IEH.

11.ACD 2 2=0,lla,=1.%2 x2=1,M ay +a1 +ar+++a,=0,0 a, +a, +a;+++a =
—1.%8 2=—1, W ay—a+a——ay=2", M 2(a, +a;+as+a;+a,)=—2° 0] a, +a;+
astar+a;=—28=—256. % =2, ap +2a, +2%a, + - +2°ay=—1, AT} 2a; +2%a, +

2% ay e +27ao=—2. %k ACD.

12. AB N £ k%, B4 o€ [0, 20}, f(2) =xIn(x+1D,FFLL f(—1D=f(1)=In 2,
Wi A TE.

A £ AR B f(—x+2)=f(x+2) T f(—a+2)=f(a+2)=f(x—2), L
Flatd)=fCo) LA £ WA 4.8 B IE#.

KN f(—x+2)=f(x+2) L fO BRI T HL 2=2 X FR. BR fOBY B 4,
FRUA f() RS T HLR o= —2 XK, B C H51R.

[(B#% - 22Ex % 17(H#47)] *+23-551B -



13.

14.

15.

16.

17.

18.

19.

HHh f(0)=0,f(1)=In 2, f(2)=2In 3, f(3)=f(1)=In 2,
FrLL £O) 4 (D + f(2) -+ £(2023) =506 (0+1n 2+2In 3+1n 2)=1012In 6.k D FHiR.

T R Cl=C = ("ﬂ)"—zg L #” +n—56=(n—T7) (n+8) =0, ff L n=7 5§ n=
—8(FH).

(—e0,2)32V3 W 2— 20,48 +<<2. 0 £ MRE LI (—e=,2).

f‘<x>—3j22jj VI 2B A e = /2 W = L
IS BT f (o) ffie/IME A 2f

—17Ca 19, — 18, RS —AMEEIIAD % a =190, FFLL S, =20 X 190--190d, Sy
—24x190+ 2122 4. gy S20>o,sz4<o,ﬁ?u—2o<d<—3—&),Eﬁz d HBERRh —19.
—18,—17.

0.49 oFfF A BRI TIE” S B RN S C o R L7, 354 D ik

#r b3k ) P(A)=0.6,P(B)=0.3,P(C)=0.1,P(D|A)=0.7,P(D|B)=0.2,P(D|C)
=0. 1, Lk P(D)=P(A)P(D|A)+P(B)P(D|B)+P(C)P(D|C)=0. 49.

. (D, ) I ZE R d. H as Taio =234, T 15 qg =17, c+veeeereerermeneniin, 14
IR as =14, LA d = —asFoB.  ++ererereremmmii 2 4%
B R as=a, F4d=14,FLh a1 =2, a,=3n—1. +oreeq¥omenn 5 4%
(2)yga”:gn_l’F)ﬂJa”al”H:(371*1)1(3n+2):%(3;71*1_37712)7 ............... 8 1
...................................................................................................... 10 43
J 280+q 4
400+p+q 7°
G DN 1] <1 PP 34y
L)—FPIZOS’
iR A5 PTL80, GTL20,  woreeee ettt e 6 4y

i , 700X (280X120—180X120)*
(2) MRS IR Ko (D 8 , 235455 o 1805910 X 400 3007 609<C10. 828.

......................................................................................................... 9&}.
FRLATEA 99. 9 %0 HFEHR N R 244 B M0 5 B AR B R Z A DRI, woeeeeeeeeeeens 12 4%
. (DN ) =2 =22 Fax JIHLL (1) =322 —224a, wweeeeeeremmmmmmmmmnnneneeneen 14y
HHR OB MES R 1L, TLL (D =14a=0, 1L a=—1. «ererrrerrierieiianininn. 34y
HHh f()=32"—2x—1=(x—1)Bx+1),

LA f(x)f(** 1) P E (—oo, —%) (1, +00) FRATEGARE, «orrerrnnnnnnn 4 4y
[5=#H% - 222% F20(H4m)] +23-551B -



20.

21.

ﬁ)fu f(f)lﬁ"]ﬂi/l\{ﬁ)ﬁﬂﬂ Lﬁ:ﬁﬂuﬁ%ﬁ" ............................................................ 5 ﬁ.
OBV E R (o s (o)) W) fla) =ab—ab—x0s f (x0) =32t —22,—1,

BRI y*(ngngxo):(313*21‘0*1)(I*xo), .............................. 75
A1, —DARAR 11— (af —af —20) = Baf —220 — D (—1—x¢),

BIE tat—xo—1=(xo— 1) (ao F D =0, FLh zp="T1.  ceeerrereeiiieiia.. 10 43
M e =L T IR TTER N y= 15 veeeereeee et 11 4y
Moo =—10F, Y& BN yH1=4(x+1) B da—yF3=0, creeeeeeeereeneneieeniae. 12 4y
it - (1) PUNBEA SRR IE 7 Bk y=—0. 760+0. 58 |-, H L AYRIR N 68, B LI G R
gy el DT ) 34
(2);@:80+78+81+84+86$90+91+93+88+89:86, .................................... 44y
& 26+33+24+20+1§$10+9+7+12+11f17’ .......................................... 545

10

;(xjf%)(yi*@:(*@><9+(*8)><16+(*5)><7+(*2)><3+O><1+4><(*7)+5><
(—8)F7X(—10)F+2X(—5)F3X(—6)=-—389, ceeeeeereeetetttiitiiiiiiiiiiiinnnninnn, 6 4

_IZO;(L—;)Z:(—6)2+(—8)2+(—5)2+(_2>2+02+4z+52+7z+22+32:232’ e T4y

izol(yfw:92+162+72+32+12+(—7)2+<—8)2+<—10>2+<—5)2+(—6)2:670,

......................................................................................................... 8 4y
10
2 Ji)(}/z*&) _ =
r= ;: = 2323;3270 39282 — 0, 987, creereriiiiiiiiiiiiiiiiin 10 4y
\/g (x;—x)? E(y, )?
FIFLL 771 0, 85, weeereereentent et ettt 11 4y
P L ST 2 B RO A S B IE R 2 IR AR IR IE IR, oo 12 43
R (DEMRETRRET 1 54 AL TR p(A):%,p(K):%, .............................. 2 4y
Rl 4 20, M3 i O AT 4 2D rp g2l ey iy, 2D )
AT LA P(A)_C4><(f) ><(f)2 12278 ............................................................ 4 4y
(2) HIBUA, X AT REHRE K 1.3.5,
1Yy —( 35 1., 2 1 90 45
P(X—1)—c;><(4>*><<4>+cs><( X () =5 =158 6 4
4 4 1.,_105
P(X=3)=C! ><(f) x(f) +L5><(f) X(I) goge T 74y
= )0 e e et 4
P(X=5)=( >+( )i = 256 8 4y
BTk X 05450k

[(B#% - 22ER $3T7(H47)] *+23-551B -



45 105 61

P 128 256 256

............................................................................................................ 10 ﬁ.
] By AN =1 o @ 671 @ .....................
JIRABEHLAS B X AR E (XD = 1><256+3><2r6+5><256 178" 12 43
22. fift - (DB BREL f ()T (0, +-o0) R HHIBIG, BTLL £ () =0 AE (0, +-o0) L fH s
HH f () =2ax—In 2—1,fFh 2ax—In 2—1=0, R 2a>ln l—’_l --------------------- 145
é\g(x)zln 1’fl’mu o' ()= lnz’
X X

P g ()70, 1>£$iﬁ‘ % 1E( +oo>L$1ﬂ o, BT g () =g (D=1, -eoee 44y
i 2a>1.48 o> ,Eﬂ a B’JHX{E(EEIIE[ ,O0) .t 5 4%
(2)®Hﬂﬁ'ﬂ%ﬁ\%ﬂ9§? x BT ax? —xln x=x A WD G SLBAR 2100
ST o 77 ax —In = ATFIASRARSE SRR, DT o )7 o — L4
AARAFE RSB SN T HLR y=a GMZL y =g (OFPIDARFREIZE A,
B (DAL g () FEC0, 1D BRI AE (1, +00) by .
HY x€ (Oyz)lﬁ,g(.r)<07%’| xE(€,+OO)HTf,g(.r)>O,FJTLJ A€ (0,1), wreveneenes 74y

x1—In =1,
@5@{““ T R a:m‘“ffirﬁzzln‘@_l? L2 B In () 2 =
ax,—Iln x,=1, X, T X3 XX
(r;Fe)In 2 (B4 Din 2
L2 — Lo R PN 9 4y
X~ X2 X
T
X2
AT Bl =3 T (€ (0,1 T 1n<1~112>+2:%)1“”.
X2 f
1
———2Int
(t+Dln ¢ 1 / t
A _—~c 1 /L = m I yA
A h(t) 1 1€ 0, NN NE! =D 10 4y
& p(D=1—1—2ln 1, ¢ (D =1+ — 2= U1 0L L (075 (0. 1) - M3
FFEL (< p(1) =0, B 1€ (0sL I ' (<0, BFBL (O FECO, 5 ] EBRBIR, oo

W h(t)}h(%):mn 3L InCae ) - 22>21n 3, FFLL InCey ) =210 3—2=1n %,Fﬁu

[(B#% - 22ER F4T(H4T] *+23-551B -



